MAC 2311 - Period: Name: KE y

Quiz 1 - Form A Please write your name and form on your paper.
August 31, 2015 Show your work to earn full credit.

1
1. Find the exact value of sin 28 given that tan@ = 35 where 7 < 8 < 3?“ (2 points)

2. Complete the square of y = 4z” — 8z + 11 and find the minimum or maximum value of the

function. (2 points)
2

3. Solve for z and express your answer as an interval: T_T_ 1 < 6. (2 points)

MAC 2311 - Period: Name:

Quiz 1 - Form B Write your name and form on both sheets of paper.
August 31, 2015 Show your work to earn full credit.

1. Find the exact value of cos 26 given that tan8 = 13 where 7 < 8 < 3?# (2 points)

2. Complete the square of y = 3z° — 12r — 8 and find the minimum or maximum value of the

function. (2 poinis)

2

3. Solve for  and express your answer as an interval:

5 < 3. (2 points)

—_

MAC 2311 - Period: Name:
Quiz 1 - Form C Write your name and form on both sheets of paper.
August 31, 2015 Show your work to earn full credit.

4
1. Find the exact value of sin 28 given that tanf = = where ~ < 0 < 7. (2 points)

2. Complete the square of y = 3x® + 6z — 9 and find the minimum or maximum value of the
function. (2 pownts)

.’132

+ 18

3. Solve for = and express your answer as an interval: < 9. (2 points)
T

MAC 2311 - Period: Name:
Quiz 1 - Form D Write your name and form on both sheets of paper.
August 31, 2015 Show your work to earn full credit.

q
1. Find the exact value of cos26 given that tan@ = -3 where 12_1' < @ < 7. (2 points)

2. Complete the square of y = 42 + 16z — 4 and find the minimum or maximum value of the

function. (2 points)
2

3. Solve for x and express your answer as an interval:

1 < 2. (2 points)

Problem References:
1. Section 1.4 #26 and Webassign HW 1 #25.
2. Section 1.2 #34,38 and Webassign HW 1 #1.
3. Section 1.1 #24,25 and Webassign HW 1 #4,
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